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QUESTION 1

Given: and the code fragment:

class MyThread implements Runnabkle {

private String src[ ] = {“a&", “B", “C"}:
private int count = 0; // line nl
public void run() { // line n2

while {(count < src.length) {

System.out.print (src[count]);

MyThread mt = new MyThread();
Thread t1 = new Thread(mt) ;
Thread t2 — new Thread(mt) :
tl.start{):

t2.start () ;

The threads t1 and t2 execute asynchronously and possibly prints ABCA or AACB.

You have been asked to modify the code to make the threads execute synchronously and prints ABC.

Which modification meets the requirement?

A. start the threads t1 and t2 within a synchronized block.
B. Replace line nl with: private synchronized int count = 0;
C. Replace line n2 with: public synchronized void run () {
D. Replace line n2 with: volatile int count = 0;

Correct Answer: A

QUESTION 2
Given the definition of the Vehicle class:
class Vehicle {

String name;
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void setName (String name) {
this.name = name;

}

String getName() {

return name;

}

}

Which action encapsulates the Vehicle class?
A. Make the Vehicle class public.

B. Make the name variable public.

C. Make the setName method public.

D. Make the name variable private.

E. Make the setName method private.

F. Make the getName method private.

Correct Answer: D

QUESTION 3

Given the code fragment:

Path file = Paths.get ("courses.txt");

/l'line n1

Assume the courses.txt is accessible.

Which code fragment can be inserted at line nl to enable the code to print the content of the courses.txt
file?

A. List fc = Files.list(file); fc.stream().forEach (s -> System.out.printIn(s));

B. Stream fc = Files.readAllLines (file); fc.forEach (s - > System.out.printin(s));

C. List fc = Files.readAllLines(file); fc.stream().forEach (s -> System.out.printin(s));
D. Stream fc = Files.list (file); fc.forEach (s -> System.out.printIn(s));

Correct Answer: C
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QUESTION 4

Given:

interface Rideable {Car getCar (String name); }
class Car {

private String name;

public Car (String name) {

this.name = name;

}

}

Which code fragment creates an instance of Car?

A. Car auto = Car ("MyCar"): : new;

B. Car auto = Car : : new; Car vehicle = auto : : getCar("MyCar");

C. Rideable rider = Car : : new; Car vehicle = rider.getCar("MyCar");
D. Car vehicle = Rideable : : new : : getCar("MyCar");

Correct Answer: C

QUESTION 5
Given the Greetings.properties file, containing:

HELLO MS5GC = Hello, everyone!
GOODBYE MSG = Goodbye everyona!

and given:

import java.util.Enumeration;
import java.util.Locale;
import java.util.ResourceBundle;

public class ResourcesiApp 1
public void loadRescurceBundle(} {
RescurceBundle rescurce = BescurceBundle.getBundle ("Greestings",Locales.U3) ;
System.out.println(resource.getObject (1));
}
public static void main(String[] args) {
new ResocurcesApp(} .lcadRescurceBundle () ;
}
}

What is the result?
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A. Compilation fails.
B. GOODBY_MSG

C. Hello, everyone!

D. Goodbye everyone!
E. HELLO_MSG

Correct Answer: A
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